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303 .          A       
          .       

     
1(−1     2(−2     
3(1     4(2   

304 .      g400   A      cm60 
     B  .      A B   J1 

    B       

1(1
2     2(2

2   

3(1     4(2   
305 .     g200  A  m / s40     

m10    .         AB J120 
    B      (g m/ s )= 210   

1(20     2(20 3     

3(30     4(20 7   
306 .     m  A  m / s2   .   

  B      )    (.   ) (    
1(4     2(8     

3(46     4 (  m .  
    

307 .m kg= 2  A            
BC m= 4  C    . AB    .

   BC     ) (  

1(/0 75     2(/0 8     
3(/7 5     4(8   

  

308 .  kg2   15          .           
(g m/ s )= 210  )  (  

1(300   2(30   3(150   4(75   

309 .  kg2   15          .               
1(10   2(10 2   3( 10 3   4(20   

310 .          m / s30          .         
(g m/ s )= 210  

1(30   2(35   3(40   4(45   
311 .    20      m / s4          .      
m4       g m/ s )= 210      .(  )  (  

1(3     2(4     
3(5     4(6   
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312 .            .  )1(              
             .          4      

1(B B B Bv v v v> > >
1 2 3 4

     

2(B B B Bv v v v< < <
1 2 3 4

   

3(B B B Bv v v v= = =
1 2 3 4

   

4(B B B Bv v v v= > =
1 2 3 4

   
  

313 .       A  R3          
         R   .   B    

 C  )    (.  

1(2
2    2(2    

3(2 2    4(3 2   
314 .   g800  20       .           N4  

          (g m/ s )= 210  
1(10   2(10 2   3(20   4(20 2   

315 .  kg2   5        m / s8     .           
  ) (  

1(−64   2(−36   3(36   4(64   
316 .  kg2   m / s5          .          

m / s4   .         ) (  
1(−18   2(−9   3(−32   4(−64   

317 .  kg2         °30           .     
 2            ) (  

1(−20 3   2( −10 3  3(−10   4(−20   
318 .    kg4  F N= 40          

                m2     . 
        N12         

      
1(2   2(4   3(6   4(8   

319 .      F N= 20    m / kg= 0 4         A         
    .    Bm / s20            (g m/ s )= 210   

1(/2 4     
2(/3 6     
3(/4 8     
4(/5 6   

320 .       m kg= 2   F         
     A B     . F       

(g m/ s )= 210  
1(100     2(150     
3(200     4 (θ   .  
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321 .     kg10   F     m10  
         .      J−40   

F       (g N/ kg)= 10      
1(640   2(560   3(−760   4(760 

322 .       F N= 10    m kg= 2     
                .      

/ N1 8                  

(cos , g m / s )° = = 2330 102  

1(6     2(6 3   
3(8     4(8 3   

323 .                m20  A  
 .F N= 40                  B   

  .     J300  .    B    
   A      

1(200     2(300     
3(400     4(500   

324 .             .      
m2            g m/ s )= 210      
  (.  

1(40     2(60     
3(100     4(160   

325 .      kg4 kg6         
  .           kg6         

 m / s6    
1(3     
2(6     
3(9     
4(12   
326 .   A  / kg0 2             .

    m2  A          

 N(g )kg= 10   )  (  

1(/0 8     2(/3 2     
3(4     4(8   

  
327 .   m3       .     m3cm90 

       m1 m2    / J22 5 m3  
 )g N / kg== 10           (.  ) (  
1(4    2(5     
3(8     4(10   
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328 .            m2     
   J8   .       )     

  (.  ) (  
1(1     2(2     
3(3     4(4   

329 .      m m4      L        O       
     .                           

1(mgL3
4     2( mgL7

4    

3( mgL11
4    4( mgL15

4  

330 .          .        
 3         (g m/ s )= 210  

1(2    2(2 2    
3(4    4(4 2       

 �	����� �����
  

331 .         
 (          .  

(          .  
 (       .  
 (           .  

1 (1  2 (2  3 (3  4 (4  
332 .    g400   A    .   

       A B   (g m/ s )== 210   
1(−8     
2(−12   
3(−16     
4(−24   

  
333 .    g200     m20    . 

 40       .       
        (g m/ s )= 210  

1(−120       
2(+40   
3(−40       
4 (+120  
334 .         A B J30  .   

   B  J−50        A   
(g m/ s )= 210  

1(20   2(−20   3(80   4(−80   
335 .  h          J300  .   m4     

 J−100   .     (g m/ s )= 210   
1(4   2(6   3(8   4(10   
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336 .   kg4  10       .   m2             
1(20     2(40   
3(80     4 (        .  
337 .            

A BJ× 46 10  .    kg200  h2  
 (g m/ s )= 210  

1(30    2(40  
3(50    4(60   

338 .              .      J20      
  (g m/ s )= 210  

1(200   2(300   3(400   4(500   

339 .       m   g
4       )   (   . 

   h                   ) (    

1(3
4   2(5

4   3(4
5   4(4

3   

340 .       .   m / s22      
     .               

(g m/ s )= 210  
1(−1    2(+1    

3(− 5
4     4(5

4   

341 .                 .           
                  

1(2(3(4 (  

342 .              6 
    (g m/ s )== 210  

1 (−100     2 (−40     
3 (−60     4 (−20   

    
343 .           .     
 m2   kg5   (g m/ s )== 210  

1(60     
2(40     
3(−60     
4(−40   
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344 .               .            
                             

1 (     2 (     
3 (     4 (   

345 .     kg4       v    .      
    .        J128 v       

    
1(2 2     2(4   
3(4 2     4(8   
346 .    kg6                        

   .   F N= 30             .   cm40     
  m / s1   .           )   (.  

1(6     2(9     
3(12     4(15   
347 .     m / s4        cm30  

    .             
              (g m/ s )= 210  

1(1   2(2   3(2   4(2 2   

 ��	���� ����� �������
  

348 .   m  h       .    :  ) (  
1 (    .    2 (      h  .  
3 (       h  .  4 (           .  
349 .                     

1 (  .    2 (  .    
3 (  .    4 (        »1« »2«  »3«    .  

350 .  kg2   15          .          
 (g m/ s )== 210  )  (  
1(300   2(30   3(150   4(75  

351 .  kg2   m / s10           .         
 )              .(  ) (  

1(45 2   2(50   3(50 2   4(100   
352 .A m 10     B  m2  20       .   B 

        A       )     .(  
1(1   2(2   3(4   4(1

4   

353 .       m / s40          .   75       
  (g m/ s )= 210  

1(5   2(5 2   3(10   4(10 2   
354 .          m / s30         .      

        )g m/ s= 210       (  ) (  
1(15   2(20   3(30   4(35   
355 .      m / s30          .       8   

          )              (.  
1(4   2(5   3(10   4(12   
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356 .        m40   m / s20   
    .           

      3         
     )   .(   

1(50    
2(55     
3(60     
4(65   

    
357 .      kg5     h        .      h2

3 

   J150  h   (g m/ s )= 210  
1(6   2(8   3(9   4(12   
358 .            .              

        

1(1
2   2(1

3   3(− 1
2   4(− 1

3   

359 .            .           h1 h2  

3 5  h
h

2
1

   )               (.  

1(2
3   2(3

5   3(3
2   4(5

3   

360 .              .         H     
h  (h H)<   

1(g(H h)−2   2( g(H h)−  3( g(H h)+  4( g(H h)+2  
361 .          v          .    v

2       
        

1(3
2   2(2

2   3(1
2   4(3

4   

362 .   h       .    h1
4       )     

(.  )  (  

1(gh1
2   2( gh3

2  3( gh
2  4( gh3 2  

363 .  kg2  H            
  .    (K)     (h)   .H 

   (g m/ s )= 210  
1(10    2(15     
3(20     4(25    
364 .   g200        .     

        .           
)     (.  

1(5      

2(5 2     
3(10      

4(10 2   
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365 .  kg4               . 
             .  

  15          )g m / s== 210     
   (.  

1(10     2(10 2   
3(10 3     4(20   
366 .      m / s20   .      m / s16  .  

       )g m/ s= 210        (.  
1(/4 8     2(/6 2     
3(/7 2     4(/8 4   

  

367 .        v m / s=1 8     h 
   .   v m / s=2 2         

  )g m/ s= 210       (.  
1(2     2(3     
3(4     4(5   
368 .   m      m60  v     

          m10   .  
    J60   J30     m70  

v      )      g N / kg= 10(    
1(10 10    

2(10 5  

3(10 14  

4(10 15 

369 .     m70       km / h108 
   .             .  

          )g m/ s= 210      
    (.  

1(40    2(50     
3(60     4(70   

370 .  m / s6         .   40           
   m / s8       .                 

(g m/ s )= 210  
1(20   2(20 2   3(20 5   4(30   

371 .         m / s30 α     45        
  .              (g m/ s )= 210  )  (  

1(45       

2(30 2     
3(90 2      
4 (α      
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678 .     h     )  Pa510    g / cm31 
  (.  )    (  
1 (120  
2 (100  
3 (80  
4 (60  
679 .        )1 (      

 )2 ( .    )3 (   (g N / kg)= 10   
1 (3  
2 (7  
3 (9  
4 (15  
  
  
  

680 .              
              . 

  cmHg75  .   m / s24     
          ) kg1    

  cm210   kg / m313500 (.   
1 (72  2 (75  3 (78     4 (80  

681 .               
     . kg2       cm220 

    .   m / s22       
     P Pa)= 50 10 (g m /s= 210  

1 (116000    2 (124000  
3 (128000    4 (132000  

 �� !��"#$ ��%

  

682 .     
1 (            .  
2 (        .  
3 (         .  
4 (               .  

683 .   kPa220     .   ....................g m / s )== 210½¼Ã]( / g / cmρ = 313 6  )  (  
1 (    atm22.  2 (     atm22 .  
3 (     cmHg162 .  4 (     cmHg162 .  

684 .        kg / m31050  .    Pa1330      
       (P Pa)= 50 10   )    (  

1 (13   2 (/1 3   3 (/0 13   4 (/0 013   
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685 .   Pa510          5     (g m / s )== 210 JA( kg / m )ρ = 31000   
1 (150000   2 (/1 5   3 (50000   4 (/0 5   
686.             

kg / m )= 313600ρ g m / s= 210    Pa510 .(  
1 (127200  
2(510  
3 (72800  
4 (27200  
687 .              / atm0 14  .      )    
Pa510   (.  

1 (114000  2( 86000    3(510    4 (     .  
688 .          )  

/ g / cm313 6 g m / s= 210 (.  ) (  
1 (5    2 (81  
3 (68000    4 (106800  

  

689 .             / cm40 8      .      
     )JA kg / mρ = 31000½¼Ã] kg / mρ = 313600   cmHg76 (.  

1(−73  2 (73  3(−3  4 (3  
690.       A       

½¼Ã] / g / cm )ρ = 313 6JA g / cmρ = 31(g N / kg= 10  )  (  
1 (6/13    2 (136  
3 (130    4 (60  

  

691 .                   
     )  kg / m3800    kg / m31000 (.    

  )    (  
1 (9000     2 (5000   
3 (4000     4 (1000   

  
692 .              . 

        ) / g / cm313 5  g m / s== 210(  
1 (21600    2(−216000  
3 ( 1000    4(−81000  
693 .                

  g m / s )= 210½¼Ã]( kg / mρ = 313500  
1 (13500            
2 (13500       
3 (41500          
4 (41500       
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694 .         .      .
     m1           

        )g m / s= 210  ÍÄI¶ kg / mρ = 31000(  
1 (1    2 (2  
3 (10    4 (20  
695 .     cmHg70     

        
1 (60  
2(−60  
3(−10  
4(+10  

696 .   Pa× 38 10     .   
    )2 (   (g N / kg)= 10   

1 (× 38 10   
2 (/ × 38 5 10   
4 (× 25 10   
4 (  

 ,�( ���	�
  

697 .   9     .     kPa30      kPa100  
        m21           

1(× 43 10     2(× 413 10     3(× 47 10     4(× 47 10     

698 .    / mm26 0  .      atm3  .     
   )  atm kPa==1 100  g m / s= 210 (.  )    (  

1 (240  2 (180  3 (120  4 (60  
699 .         .                

      / cm7 5 ) g m / s= 210   cm250   / g / cm313 6 (.  )  (  
 

1 (2/3  
2 (3/4  
3 (1/5  
4 (4/6  

700 .    / kg1 35   cm210 .h      g m / s )= 210½¼Ã]( / g / cmρ = 313 5  
1 (5  
2 (10  
3 (15  
4 (20  
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701 .                      
1 (   2 (   3 (   4 (    

702 .   Pa510  .                       
1 (1000  2 (100  3 (10  4 (1  

703 .    km100       Pa510            
m21  (g m / s )== 210  )    (  

1 (110   2 (210   3 (310   4 (410   
704 .      10    cm2100  .              

g / cm )= 31ρP Pa= 50 10 (g m / s= 210  
1(310     2(× 32 10   3(510   4(× 52 10   

705 .      cm10      .   cm2           
     / g / cm )ρ = 313 6 g N / kg= 10 (π = 3  )  (  

1 (4  2 (8  3 (16  4 (24  
706 .          A1A2 A3          .A A A< <3 2 1  

         F1F2 F3       
1(F F F= =1 2 3    2(F F F< <1 2 3  
3(F F F> >1 2 3    4 (       »1« »2 « »3 «   .  
707.           )    (  

 (  B    AC D .  
 (  cm21  B     cm21  D .  
 (   ABC D  .  

1 (      2 (      
3 (     4 (   

708 .  A B       cm28 cm212     
        A     B     

        A
B

F
F     

1(9
4    2 (2  

3 (1    4(2
3  

709 .           .  cm2100 
 .        kg / m3800        

         )g N / kg= 10        (.
  )  (  

1 (240  
2 (160  
3 (24  
4 (16  

710.       cm220       kg / m31000 
  .                 

(g m / s )= 210  )  (  
1 (2    2 (8  
3 (10    4 (800  
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711 .    / m20 01           / g / cm31 2   .    
       N60        (g N / kg)= 10  ) (  

1 (30  2 (40  3 (50  4 (60  
712 . A     .        AF        AP  .   B 

   A                BF BP  A
B

F
F A

B

P
P      

    ) (  
1 (2 2  2 (4 2  3 (8 8  4 (8 2  

713 .                    
cm210    cm250  .             

  / g / cm )= 30 8ρg / cm= 31ρ (g m / s= 210  ) (  
1 (4/5    2 (6/6  
3 (6    4 (7  

714 .        cm220  .       
    N2        .    cm210 

              g m / s )= 210 
JA( kg / mρ = 31000  

1 (100  2 (200  3 (300    4 (400  
  

715 .        .       
)1( )2 ( )3 ( F1F2 F3       

1(F F F= >1 2 3  
2(F F F= <1 2 3  
3(F F F= =1 2 3  
4(F F F= <1 3 2  
  

716 .            cm230  cm2150 . 
/ L7 5    g / cm33             

         
1 (33    2 (66  
3 (99    4 (225  

  

717 .        cm×20 20  cm40    .          
  g m / s )= 210 JA( kg / mρ = 31000  

1 (160  2 (320  3 (16000  4 (32000  
718 .        cm10  cm20    

g / cm31   .             
(g N / kg , )= π =10 3  

1 (240    2 (120  
3 (80    4 (40  

719 .        W             
F    .     

1(F W=    2(F W>    
3(F W<    4 (    .    
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1423 .                

    .          J1200 
            

1 (75/1  
2 (5/1  
3 (25/1  
4 (1  
1424 .          2      k   .k    )  (  
1 (k =1   2 (k > 2   3 (k = 2   4 (k< <1 2   

 �'25��.
 6	�.� � !���7�
  

1425 .                         .  
        

1 (     2 (   
3 (     4 (      .  
1426 .                   .           

       »»T PQ Q              »T PW W   .     
1 (T P T PQ Q , W W> >   2 (T P T PQ Q , W W< <  
3 (T P T PQ Q , W W> <    4 (T P T PQ Q , W W< >  
1427 .                        )  (  
1 (    2 (    3 (    4 (    
1428.               ) (  
1 (    2 (    3 (    4 (    
1429 .                C°10 C°45  .        

              
1 (60  2 (65  3 (70  4 (75  
1430 .n1                  .      n2    

             .n
n

2
1

    

1 (1
2   2 (2  3 (5

6   4 (6
5   

1431 .                             
J200          J300           (R J / mol.K)= 8   

1 (300-  2 (100-  3 (200  4 (500  
1432 .           C°7 C°147   .       25%  

  .          V(C J / mol.K)= 12   )  (  
1 (210  2 (240  3 (560  4 (1080  
1433 .     P1 V1    T1          T T=2 12     

Q1     .       T T=3 24      Q2     Q2  Q1     
) (  

1 (5  2 (10  3 (5
6   4 (10

3   
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1434 .          L53  K300  .         K400 
            L4             L3    .

             
1 (  2 (200  3 (400  4 (600  
1435 .        AC    .    

                
1 (  
2 (150-  
3 (150  
4 (225  

1436 .P V−−          .       
ABBC CD  J−30J45 J105       A 

D    (R J / mol.K)= 8   
1 (3  
2 (4  
3 (5  
4 (6  
1437 .    ABCD        .CD   

   .      ABCDW      Q 

  .Qm W=    m    
1 (m =1   
2 (m = −1   
3 (m >1   
4 (m < −1   

1438 .          PVT   . 
P T−       .              

  

1 (    2 (  
  

3(    4 (  

1439 .     abc a c   .  J90     
J70     .      c a       

  )    (  
1 (J160     2 (J20   
3 (J70     4 (J90   
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1440 .           AC    . 
              

1 (500  
2 (700  
3 (900  
4 (1400  
1441 .      T1 T2    .AB     

 CD                
  AB         CD    

1 (3
2     2 (3

5   

3 (5
3     4 (2

3   

  
1442 .P V−    ABCD     »T T2 1 

     .   AB    CD   
1 (3  
2 (1  

3(1
3   

4 (2  
1443 .     » ,CD BC AB     .   A D   

     ) (  
1 (     .  
2 (     .  
3 (     .  
4 (          .  

  
1444 .       »adc abc  a  c   .     

    )  (  
1 (          .  
2 (    abc         adc  .  
3 (      adc          abc .  
4 (     adc        abc .  

1445 .          K N   .    
KMN       ) (  

1 (600  
2 (800  
3 (1200  
4 (1600  

  
1446 .          » ,adc ac abc  a c 

  .     )  (  
1 (         .  
2 (          .  
3 (         .  
4 (   adc 3     abc.  
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1447 .P V−−         .    abc    
  (R J / mol.K)8   ) (  

1 (1100    2 (3300  

3 (1700
3     4 (2300

3   

  
1448 .       abc adc  a  c   .       

)  (  
1 (          .  
2 (    abc          adc  .  
3 (      adc       abc .  
4 (     abc        abc .  

  
1449.mol2     ABC     .       

    (R J / mol.K)== 8   
1(/1 2    2 (4/1  
3 (6/1    4 (      .  
1450 .       » ,C B A V1 V2   .B    .  

      »C A  »C AQ Q       
1 (C AQ , Q< <0 0   
2 (C AQ , Q> >0 0  
3 (C AQ , Q< >0 0  
4 (C AQ , Q> <0 0  
1451 .        » ,adc ac abc  a  c   .   

     » ,adc ac abc   » ,adc ac abcQ Q Q       
1 (ac abc adcQ Q Q= +     

2 (abc adc
ac

Q Q
Q

+
= 2   

3 (ac abc adcQ (Q Q )= − +   

4 (abc adc
ac

Q Q
Q ( )

+
= − 2   

1452.   ac       .     C°23   
ab           

1(225   
2(225   
3(150   
4(150   

1453 .P V−                    a  d 
      .       a b  J500    

  a d     
1 (500    2 (  1000    
3 (1500    4 (2500  
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1454 .                     
 .              

1 (600   
2 (800    
3 (1000     
4 (1400  
1455 .(P V)−                .       

              

     
( )2  ( )1   

 

      
( )4    ( )3 

1(W W W W> > >3 1 4 2    2(W W W W> > =1 3 4 2   
3(W W W W> > >1 4 3 2    4(W W W W> > >1 3 4 2  
1456 .(P V)−−           .bc       

        ( )π 3  

1(x− 25
4   2(x25

4   

3(/ x− 22 5   4(/ x22 5  

 ��	��5�&
�.� 0!9.:
    

1457 .V T−−       .         ...............  
         ................  

1 (    
2 (   
3 (    
4 (   

1458 .      .          W   
        Q  .     

1 (Q , W< <0 0   2 (Q , W< >0 0  
3 (Q , W< <0 0  4 (Q , W< >0 0  
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1459 .                  .P T−− 
    

1(       2 (

   

3(

  

  4 (  

1460 .P V−−            . V T−  
   ) (  
  

1 (    2 (  

  

3 (    4 (  

1461 .  P T−−              . 
P V−      

  

1 (    2 (  

3 (    4 (  

1462 .                      
1 (A C BT T T> >   
2 (BC CAU UΔ > Δ   
3 (B A CT T T= =4 4   
4 (AB BC CAU U UΔ + Δ = Δ   
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1463 .             .            .  
                             

               .          
        

1 (        2(

      

3 (    4 (  

1464 .   .          .        

      maxV minV  max

min

V
V

    

1 (3
2     2 (4

3   

3 (9
4     4 (16

9   

1465 .P V−        .         
    

1 (600  
2 (1200  
3 (600-  
4 (1200-  

 
1466 .            .   :  
1 (400      .  
2 (800      .  
3 (400     .  
4 (800     .  
  
  

1467 .P V−       .       
     J400              

1 (400  
2 (400-  
3 (200  
4 (200-  

1468 .          .       

J600         D     
1 (6  
2 (7  
3 (8  
4 (9  
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1856.      A B   :  
1 (           .  
2 (              .  
3 (                   .  
4 (               .  

1857.»   «     ) ( 

1 (  2 (  3 (  4 (  
1858.                    

1(A B C DV V V V= > >   
2(A B DV V V= <     
3(A C B DV V ,V V= =       
4 (A B C DV V ,V V= =   

1859.      )      ( 

1 (                 .  
2 (             .  
3 (                .  
4 (   »2 « »3 « .  

1860.      q1 q2             
         .      

      
1(A BV V≥ D CV V>  2(A BV V< D CV V>  
3(A BV V> D CV V>  4(A BV V< D CV V<  

1861.     q >>1 0 q <2 0      q q=1 2  .        A B  
          

1 (  .    
2 (  .    
3 (     .    
4 (  .  

  
1862.      A B      .................... 

    ....................     A .  
1 (    D    2 (    C    
3 (    C    4 (    D  

1863.    q << 0 )(  A B  C    .        :      
1 (     .    
2 (     .  
3 (   .  
4 (   .  
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1864.     A B              
1 (  .    
2 ( 4        .  
3 ( 2        .      
4 (   .  

 ����;�<� ��2	� ��� � ����;�<� �	����� �����
  

1865.            ....................           
 .....................  ) ( 

1 (    2 (    3 (      4 (    

1866.     q      )1( )2 ( )3( A B    E 
   .               

1 (2    2 (        
3 (      4 (   q   

1867.       q >>0)  (          .  
       ....................    .................... .   

1 (    
2 (    
3 (    
4 (    
  

1868.              .       
            B A     .   

  W      W′    A BV V V− = Δ  
     )  (  

1(W <0 W′ >0 VΔ >0   2 (W <0 W′ >0 VΔ <0  
3 (W >0 W′ <0 VΔ >0  4 (W >0 W′ <0 VΔ <0  

1869.      q        E            
 D     .     ................ q   Eqd ...................  .  )  (  

1 (       2(       
3 (     4 (     

1870.         q <0    ............  
         .............. .  )       (  

1 (        
2 (      
3 (        
4 (    

1871.     q C= + μ9  AB     .      A B  J−− × 54 10 
J−× 55 10 B AV V−     

1 (1/0  2 (1  3(10
9   4 (10  
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1872.  q C= + μ3   A  AV V= 10   B     .         
J−× 56 10     B    
1 (30  2 (30-  3 (10-  4 (10  

1873.  q C= − μ2      V V= −1 40      V V= −2 10     .
           ) ( 

1(J−410   .    2(J−410   .  
3(J−× 56 10   .  4 (J−× 56 10   .  

1874.       q C= + μ2  A B     .        
J−+ × 55 10      q    B AV V−      ) (  

1(−− × 55 10 −25   2(−− × 55 10 +25   3(−+ × 55 10 −25   4(−+ × 55 10 +25   
1875.       V24  .  s101610  

                  
 (e / C)−= × 191 6 10   )    (  

1(/ −× 13 84 10     2(/ −− × 13 84 10   
3(/ −× 23 84 10     4(/ −− × 23 84 10   

1876.       C+ μ4       N / C100       .     
cm10           )         (  )    (  

1(40   2(−× 54 10   3(−× 34 10   4(−× 74 10   
1877.       )1 ( v        .    )2 (  

        e(m kg)−= × 319 10     
1(× 78 103     2( × 73 108    

3( × 664 109    4( × 69 1064  

1878.      V500  .      /0 8         
    ) ( 

1(−× 34 10   2(−× 38 10   3(−× 44 10   4(−× 48 10   
1879.       E N / C= 3000  AB  cm2  
.    A B    AV BV  A BV V−  
    ) (  

1 (6000 -  2 (6000  3 (60 -  4 (60  
1880.  q C= − μ4          

V / m510    .   q  A  B   8    
 .B AV V−     ) (  

1 (2  2 (2-  3(200  4 (200-  
1881.      q+  A       . 

  D      B  )       
(CD(AB BC )= = 2   

1(3   2(3   3(2   4(2   
1882.  q C= + μ3       E N / C= × 25 10 

  A B    C   .     A C  
 (AB cm , BC cm)= =4 3   )    (  

1 (1  2 (20  3 (40  4 (80  
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1883.         A B     V / m10 
.   A       

1 (1    2 (1-    
3 (100    4 (100-  

1884 .   A B         .  
        )cos /°° =37 0 8 sin /° =37 0 6 E N / C= 310  

AB m= 1(  )    (  

1 (1000  2 (900  3 (800  4 (600  
1885.  C+ μ5        N / C× 58 10  A B 

    .AB m= 2      q           
1 (4-    2 (8+    
3 (8-    4 (4+  

1886.               V400   .     
      )    (    

1(× 32 10      

2(× 38 10     
3 (20     

4 (80  

1887 .   q+           .    
  EF                   
1(EF AD    2( EF AC   

3( EF AB   4( EF BC  
1888.      AB m= 4 CD m= 2  .   

A B  V8 D A| V V |−       
1 (4    2 (6    
3 (10    4 (12  

1889.       E  q >0   A   B 
C D   .    q            

1 (1    2 (2    
3 (3    4 (    .  

1890.       E N / C= 210        
A B    .B A(V V )−       

1(−5      2(−50    
3(−500      4 (   A B  .  

1891.   q C= μ2     (N / C)E i j= +3 310 10   d i(m)= 5     
         

1(−210 2   2(−210   3(10 2   4 (10  
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2420 .    q  v i j (m/ s)== − +100 400    yB / i B j (T)= +0 2        

  yB            
1(/−0 8  2(/+0 8  3(/−0 05  4(/+0 05  
2421 .               
   .     (q )> 0     A      

   .               
1 (    2 (  
3 (    4 (  

  

2422 .                 
    )q C== μ20 v m / s= 100 m g= 10(  

1(/ T0 01       2(/ T0 01           
3(T100       4(T100     

2423 .             .  
              . 

  ............... ......  
1 (        .  
2 ( yoz    .      

3 (  E .  
4 ( xoy      .  

2424 .    m   q  v         
                    

1 (  2 (   3 (   4 (        .  

 ����� ���G H	@ .3 &���  ��	D�5E� ���	�
  

2425 .           .             
           

1 (    2 (    3 (    4 (    

2426 .           .   
         

    

1 (  2 (
   

3 (    4 (  
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2427 .              )    (   
1 (        2 (              
3 (        4 (        

2428 .                   .      
            )  (  

1 (  2 (  3 (  4 (  
2429 .             

1(  2 (  3 (  4 (  

2430 .   AB              .  
K AB      

1 (     .  
2 (      .      
3 (     .  
4 (     .  

  
2431 .Am N           SI     )  (  
1(N.A.m  2(N / m.A  3(A / N.m  4(N.A / m  

 F I  sin  = �Β       θ
  

2432 .         G500     A8   .      
°°30              
1(/0 2  2(/0 2 3  3(2  4(2 3  
2433 .    cm50        / T0 04       °30 

    .       A2           )  (  
1(/0 02 3  2(/0 2 3  3(/0 2  4(/0 02  
2434 .  cm50             °30   .     

A4       −× 32 10           
1(2  2(/0 2  3(20  4(/0 02  
2435 .              °30     .    

       °45              

1(2  2(3
2  3(2  4(2

2  

2436 .         °15        
         )/2 1 4 /3 1 7(  

1(%20   .    2(%20   .        
3(%30   .    4 ( 1  3    .  
2437 .   cm80       50    

        
1(−× 38 10     2(−× 38 10         
3(−× 34 10    4(−× 34 10   
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2438 .    / m1 5   A2   .        / T0 5   
             .            

1(/1 5    2(/1 5    3(3    4(3    
2439 .    A25     .               

        )   g50   g m / s== 210 (.  )    (  
1(/ T0 1  2(/ T0 02  3(T20  4(T40  
2440 .      N8         

       ) T5       m2  
 N10 (.  

1(/0 2      
2(/0 2            
3(2      
4(2      
2441 .    AB        

      K  N10     . K 
    A20     N8     .  

 AB cm10           
    ) (  

1(/0 01  A B    2(1  B A        
3(1  A B    4(/0 01  B A  
2442 .             / T0 02        

         .     / m0 5    .  K   
 ....................     ....................    .  

1 ( /0 025  
2 ( /0 05        
3 ( /0 05  
4 ( /0 025  

  

2443.              .   
  I    .            

1(F F F> >1 2 3  
2(F F F= =1 2 3        
3(F F F< <1 2 3  
4(F F F> >1 3 2  
2444 .   U             

I   .            
1 (    2 (        

3 (    4 (   

2445 .      ( )1 ( )2     

B   .      ( )1     ( )2  
    M  .        

1 (( )1    2 (( )2    
3 (    4 (   
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2446 .         ABCD  A5      
   B  / T0 2    )AB CD cm= = 10 BC cm= 20(  

1(/0 1    2(/0 2        

3(/0 1 3    4(10  
  

2447 .   ABCDE     BC     
     

1 ( 4 3  2 ( 4        

3(8 3 4 3  4(8 4  
  

2448 .          R  N      
  B    .        

1 (    2(BI        

3(BI( R)2    4(NBI
R

2
  

  

2449 .        / T0 5 )   x (  
.              
1(N5       2(N5           
3(N35       4(N35     

  
  

2450 .  m2   A5   y         B i j (T)= − +5 5  
 .                 
1(100  2(50 2  3(50  4 (  

  
2451 .    / m0 25           
/ N0 2     .    / T0 2           

       / N0 3     )    (  
1(A1       2(A1       
3(A4      4(A4     
2452 .   ABC  m          
 B      .         

1(mg
aB4     2(mg

aB3     

3(mg
aB

2
2    4(mg

aB
2 

2453 .     AB cm20  .   K   
N10        N2    .  K   

A20           / N2 2     . 
              )  (  

1(/0 1 / N9 6    2(/0 1 / N10 4  
3(/0 1 N10    4(/0 001 / N10 4  
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2454 .   MNP      / mT1 5  
. MN NP cm== = 10      A3     

   MNP    
1(/ N−× 44 5 10        
2(/ N−× 44 5 10    
3(N−× 49 10        
4 (               N       .  
2455 .  m5  / A0 1     x            x 
 .       B i j (T)= +7 10   .        
1(/ N3 5      2(/ N3 5    
3(N5      4(N5    

2456 .         x yB B i B j= +  . 

x
y

B
B              

1(− 3    2(3
3        

3(± 3    4(± 3
3  

2457 .        ms2 × 185 10       
     .                  

)sin /° =37 0 6 e / C−= × 191 6 10(  
1(40     2(40          
3(24      4(24    

2458 . MN  I    M          
  .           ) 

  (.  
1 (  .    2 (θ =0    .      
3 (θ = °90    .  4 (      .  

2459 .                  . 
    B i j (T)== +2 2             

          )sin /° =53 0 8 sin /° =37 0 6(  
1(/2 8       2(/0 4           
3(/0 4       4(/2 8     

2460 .       N / m50         
  cm20            .  

      mm550   A100       
/ mm549 6   .             

1(, B T−= 310 I    2(, B T−= 310 I   
3(, B T−= × 42 10 I    4(, B T−= × 42 10 I  

س�م
N S
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2461 .    abcd   A10     
  T5   .          
           (sin cos / )° = ° =37 53 0 6  

1(/8 3      2(/8 3          
3(/0 2      4(/0 2    
2462 .      y   G4000  .         
1(/ N5 6  
2(N4        
3(/ N3 2  
4 (  
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2463 .           )       (  

1 (

  

2 (

  

3 (

  

4 (  

2464 .           
1 (          2 (        
3 (          4 (        
2465 .       ....................MN    .   .................... 

  N     ....................  .  )   (  
1 ( A      2 ( A          
3 ( B      4 ( B    
2466 .                    

1 (  2 (  

3 (  4 (  


